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OE=3d =82X 2 2,000
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06.258 8RSl & F=AlX & 26,000
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& 2,450
Al 3,678
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AZEe EXns 12,750 12,750 0
< 3,825
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307 glz2tol & 12,750 12,750 0
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10 A3l S X2 = 12,750 12,750 0
OAZZO0HR HEXws 12,750
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Al 8,925
oS & AL 12,000 12,000 0
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03 &AL Z I 12,000 12,000 0
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301 et d = 8,000 8,000 0
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Od= UMY M=U=zl FIIHXE 8,000
S FoHe &c HSBUEES 23 15,000 15,000 0
307 21201 A 15,000 15,000 0
10 AFRISXIEX 15,000 15,000 0
Od= Fe &=d NSUEE 23 15,000
HE AZEHHAARS] MFAIX S 15,000 15,000 0
307 21201 A 15,000 15,000 0
10 A2l =S X2 X 15,000 15,000 0
O&E=E A2 HAE S HFAKXSE 15,000
A2 NMEOHQ A3 &EFAIXZ 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
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307 glz2tol & 15,000 15,000 0
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10 A3l S X2 = 6,000 6,000 0
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10 AlRISXI2 X

OFM SXAE SAA SE+E

= M

387,000

387,000

116,100
270,900

332,

640

54,360

= N [

106,000
42,400
21,200
42,400

95,

274

10,726

307 glztol &

= N[

106,000
42,400
21,200
42,400

95,

274

10,726

= M AL

106,000

106,000
42,400
21,200
42,400

95,

274

10,726

= M AL

412,000
164,800

82,400
164,800

323,

176

88,824

307 glz2tol &

= M AL

412,000
164,800

82,400
164,800

323,

176

88,824

10 Al SXIE2 X

412,000

323,

176

88,824
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FA:
x| XH -
L= B

&l

ME=TY
Zojol =X
Tojel SRAL K&

Off &t 24

=

i
2

= H1 [

412,000
164,800

82,400
164,800

= H1 [

112,000
44,800
22,400
44,800

,645

10,355

307 glztol &

= M [

112,000
44,800
22,400
44,800

,645

10,355

= H M

112,000

112,000
44,800
22,400
44,800

,645

10,355

Z M H

190,000
76,000
38,000
76,000

,380

19,620

307 21201 &

= H [

190,000
76,000
38,000
76,000

,380

19,620

= H M

190,000

190,000
76,000
38,000
76,000

,380

19,620

= M H

766,000
306,400
153,200
306,400

686,

187

79,813

307 glztol &

= N[

766,000
306,400
153,200
306,400

686,

187

79,813

= H M

766,000

766,000
306,400
163,200
306,400

686,

187

79,813

oo MOt=EXME 29

= H [

117,500
49,937
17,625
49,938

105,

497

12,003




D MESTIN
e EXsd

D HMY BEXAIE XA )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
307 glz2tol & 117,500 105,497 12,003
& 49,937
< 17,625
Al 49,938
10 A3l =S X2 X 117,500 105,497 12,003
OHM MI=XNEEH =294 117,500
=2 49,937
< 17,625
Al 49,938
FUQYAE HEZ2H X2 13,000 12,560 440
< 3,900
Al 9,100
307 21201 A 13,000 12,560 440
< 3,900
Al 9,100
10 A2l =S X2 X 13,000 12,560 440
OFAQLAALE ME=Zzd X2 13,000
< 3,900
Al 9,100
FAUQAAE MEQ HXH| 5,395 5,495 A 100
< 1,649
Al 3,746
307 glz2tol & 5,395 5,495 A 100
< 1,649
Al 3,746
10 AtEI =X 2 X 5,395 5,495 A 100
OFAUQAAL MEQ HAH| 5,395
< 1,649
Al 3,746
HUQUAL S BAK SE2g 92,619 90,897 1,722
< 27,351
Al 65,268
307 glz2+ol & 92,619 90,897 1,722
< 27,351
Al 65,268
10 A3l S X2 = 92,619 90,897 1,722
OZJUQLAANES SAML S8 92,619
< 27,351
Al 65,268
O - B4 - E=0AlE MEol Farg Al 85,410 85,410 0
301 LAz 85,410 85,410 0
01 M28E +06l= 85,410 85,410 0
OF - Z&l - FEUAL MEol g 85,410
ANZEHOHN(ER) A 22 100,000 100,000 0
< 50,000
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2N
e =SXsN

el

X ZH
S =

ME =0

Zofel SXAIE XA

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 50,000
307 21201 A 100,000 100,000 0
< 50,000
Al 50,000
10 A3l S X2 = 100,000 100,000 0
OALZOHCH(ER) SANZ 2Y 100,000
< 50,000
Al 50,000
ZOiel oF2t SsSAMY 193,200 193,200 0
= 58,005
Al 135,195
307 21201 A 193,200 193,200 0
= 58,005
Al 135,195
10 A2l =S X2 X 193,200 193,200 0
OFLl OrI=s ALY 193,200
< 58,005
Al 135,195
oo ME=2=2E 29 120,000 120,000 0
307 glz2tol & 120,000 120,000 0
05 RIZHRI & 3 120,000 120,000 0
OZMY de==E 24 120,000
ZOHO HE(OHQ) HFAE X 103,200 96,000 7,200
< 7,200
Al 96,000
307 21201 A 103,200 96,000 7,200
< 7,200
Al 96,000
10 A3 S X2 = 103,200 96,000 7,200
OZFO0He HE(ONL) HFALE X 103,200
< 7,200
Al 96,000
HHAU=TAE &5 & JIsES 1,176,591 0 1,176,591
= 580,795
< 200,016
Al 395,780
Zoiel A=A4E JIsEL 979,934 0 979,934
= 489,967
= 146,990
Al 342,977
402 RI2HXt20l 979,934 0 979,934
= 489,967
< 146,990
Al 342,977
01 2I2tR2E X 979,934 0 979,934
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2N

ME =0

Hu: ool 2N
el ZHASIAILE &5 & Js22 )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
OZMLUANFAIL JISEZL 979,934
= 489,967
< 146,990
Al 342,977
IS RYE Jls22 15,000 15,000
< 15,000
402 RI2HXt20l ™ 15,000 15,000
< 15,000
01 2I2tR2E X 15,000 15,000
OJIgEsaAYE Jls2 15,000
< 15,000
ZOUHAXMATHEAIE JISES 73,857 73,857
= 36,928
< 11,076
Al 25,853
402 RI2FX=201 M 73,857 73,857
= 36,928
< 11,076
Al 25,853
01 RIZEAI=2E X 73,857 73,857
OHMHAXNLHEANE JIsEL 73,857
= 36,928
= 11,076
Al 25,853
FAURAANLISEZ 107,800 107,800
= 53,900
< 26,950
Al 26,950
402 RIZEX20l ™ 107,800 107,800
= 53,900
< 26,950
Al 26,950
01 IZEAI 22X 107,800 107,800
OFAMQLYANAEISEZY 107,800
= 53,900
= 26,950
Al 26,950
HE2LAZH (ME=ST) 776,242 69,041
QI (ME=S D) 643,212 61,601
ol (MasX) 643,212 61,601
101 @124l 643,212 61,601
01 2= 643,212 61,601
OAZAZ 2 614,323
@52 11,0023 *5H x50A| 2t 12& 33,006
6= 9,383 *25H «50A| 2t 12 140,745
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SN MEEXD
E: HYSYAH (MBHAD)
Chel: ol (MBS D

SA - BB B () - MM - BES Ol &t o San HmEET
/= 8,4763 76 x50Al 2tx 12 386,506
@3 7,609% *8H x50Al 2tx 12 36,524
9= 6,878% 2 «50Al 2t+ 123 8,254
0TEHS 22N 8,476 «2H x4 Al 2H+6L 407
OX S IHH (FL2REE)
634,328,216% *1.4% 8,881
05222 =+¢ 28,889
QL =0 68, 1323 x4 H 48 13,082
@ Kt MEfE 22t 68, 1323 *4H x58 15,807
Jl2dd(Me=sx ) 133,030 125,590 7,440
2yl (Me=X) 133,030 125,590 7,440
201 L2l 75,490 72,090 3,400
01 At 22l 53,800 50,400 3,400
O el 26,600
ozg=+¢ 5,000
O =&l 22,000
ou=sH (a3 #) 200
02 =224l 21,690 21,690 0
03322 ¥ HA 21,690
202 oddl 50,040 46,000 4,040
01 = LH o4 1l 50,040 46,000 4,040
o=sXadLR 20,020
MESXNHR 30,020
203 YR =&l 7,500 7,500 0
01 )1 228 =2H 3,300 3,300 0
oOsX&E=E 3,300
04 FANSEHE=LH 4,200 4,200 0
ORNZ2EYRFA 350,000& = 12& 4,200
HRas(Mes ) 5,691,158 5,327,992 363, 166
WEHAXS(HEEX L) 5,691,158 5,327,992 363, 166
HEHAHXE (2 ESELIH HEZ) 5,691,158 5,327,992 363, 166
701 JIEISI AN E 3 5,691,158 5,327,992 363, 166
01 JIEtl AN ES 5,691,158 5,327,992 363, 166
OS2 EEIAN B 5,691,158
MWEEs 610,047 653,276 AN43,229
WEAHAHXE (SNSEIA AMEAISHEER) 610,047 653,276 AN43,229
SASEAIX 2 AME2el3E 8&E3 610,047 653,276 AN43,229
9 HMES 534,047 546,376 A 12,329
02 SAH- SHINTS 534,047 546,376 A 12,329
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===

=S

2

X ZH -

o =

o
Ll
4

Ho

el

LI HeH X

el

<

n0

Kio

Hl w

A 30,900

230,900

H3r
Wikd
RIS

106,900

106,900

Off &t 24

534,047

76,000

76,000
76,000

o)

B0
0B
gl

B3]
or
20

no
o

i)l

404 SIS Xt

Ll
K]

#

tel A& X

el
o
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